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L Wit is the salt of chave'rsation, not the food.

1. Which of the following is rated

the poor: est region of the World ? | /

(1} The Middle East -

(2) Asia ]
(3) Sub-Saharan Afnca L
{4) Latiit America .
(5). None of these

2. Which of the following terms is -
- NOT used in the world of ‘eco-
: nomics/finance?

(1) Sinking Fund
{2) Third World
{3) Open Door Policy
{4) Devaluation
{5) Privilege Motion -
3. Outofthe total population of the
world about 80% of it lives in

(1} Developed countries

(2} BRIC couniries

{4) Latin America

{4) Developing Ccunirles a5
(5] None of theze

4. Rashtriya SW&SﬁhYﬂIBlm’l Yo;a- s oo
na (RSBY) is a'scheme launched | © °

by the Ministry of - iy
(1) Finance
(2} Rural Development .-~
{3 Commerce
{4) Industry . {6)-Labour

. What is the fullform of the ab-
breviation ASEAN ?

(1) Association of South East_

Agro-Nations

{2) Association of Sotith East_

Asian Nations.
3} Alliance of uouth Eaﬂ Asian
Nations

{4} Alliance of South East Aman_

Neighbours
© {5) None of these

6. Which of thé following fis the |

“scheme for proﬁdiﬂg-éieétri'city
conrections to dli“the rural
household in the country ?

(1) ASHA {(2) Swadhar
{3) RKutir Jyoti, {4) Deep Mala
{5) None of these

. Many times we read about ‘PPP'

in economic literature. What PPP

is? ltis a concept which -

(1) teils us that exchange rates
betweern currericies are in
. ‘equilibrium when their pur-
~ chasing power is the same in

 ~ bath the countries, .~
{2) tells us that exchange rates
between currencies are in
equilibrium when their pur-
chasing power is different in

both the countries

(S)NPPP means the current I‘X*

(4) a me sure of income medual»
1137 in developmg courntries
(5) 'None of these

8. As we all know the Hliman De-

velopment Index (HDI) is an in-
dex ‘of social performance in a
single composite index. Itis an
indication of - i
(1) disparity reduction rate, hu-
“man resource development
. rate and the composite index.
' -‘,{/] Jongevity, education and liv-
. 7 ingstandard, :
{(3) the fagcilities for: minimium

educational attainment
(4) GDP of a nation and the sta-

tus of its Balance of Trade
(5) Norie of these
9. Which one of the following coun-
tries is not considered a Newly
Industr ialmed Country {(NIC)?
{1 SouthAfnca

g Memco [3] Br'_aéﬂu
4 Turke 7 rance
10. Which ,Qf the = following

statement(s)’is /are correct ahout
National Rural Employment
Guarantee Act (NREGA) ?
. (A NREGA is applicable to all
T ural areas of the country.
B, (B}*Only construction work shall
- be given. to the workers em-
ployed tnder this Act.

(C) Every worker istgiven an
‘amount of Rs, 250 per day
for a eight hours shl_ft

(1) Only A (2) Only B K\

(3) Only C' (4 Only A & B

[B)AILA, B&C...~

11. Which of the following is NOT
true about farmers in Least De-
veloped Countries (LDCs) ?

* 12. Which of the follomilg ‘organisa-

- ‘schoohng__a_dult_hter_acy and | .

{1) The staple crop is the chief
source of food
{2} Labour is underutilised ex-
cept for planting and harvest-
ing seasons =
(3) On the traditional farm, out-
" put is always greater than
consiumption
_\[4)-Cliltivators utilise only a small
portion of land
(5) None of these

- tions/agencies controls the mon-
etary policy of our country ?
(1) SEBI
2) Planmng Comnussxon
@) RBL _/
(4) Union Ministry of Finance
(5) None of these
18. Amartya Kumar Sen emphasiz-
es that having enough to eat de-
pends on one very crucial fac-
tor. Which of the following is that
factor ?
(1).-Society’s system of entitle-
/ ment
- (2) Distribution of a gncultural
- income Ly
3) Low poverty rates
(4) Structure of the family
(5) None of these
14. The National Food For Work
scheme is now submierged with
which of the following?

(1} Pradhan Mantri Gram Sadak
Yojana

(2) Mahatma Gandhl National
Rural Employrnent Gurante
Act A~ ‘

(3) Bharat Nirman

(4) Indira Awas Yojana

(5) None of these

Many a time we read about Fer-

tility Rate in economic literature.

What is Fertility Rate ?

(1) The total number of children
born in a country in a given
year divided by number of
children died.

(2) The number of childrén born
to an average worman during
her reproductive years , 2 X

(3} The' number of births in‘a
country divided by total pop-
ulationin a given year

15.

—William Hazlitt ]
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1e number of wWomer!

7"-.fé.gr:: group of 15-45 vears in_ i :
a'country divided by total |

number of women died dur- -

ing child birtl.
8], Mone of these.
How is dual economy distin-
guished from other economies ?
. It is a mixture of — i
{1} industrial sector and manu-
facturing sector
{2} traditional agricultural sector
anda modem industrial sec-
tor , /

1a.

{3) state ownership of the means |

‘of production in cooperation
of foreign organisations -
~(4) industrial sector and trading
U gE goads obtained through
unports
(8} ngne of these
Watu shed
Schemes are a part of -
(A Development of Rural Econ-
omy
Rz DPVGiOPIIlCITL oi Skilled Work-
Ers.
{C) Developmient of I*’rlgatmn fa-
: cilities in India ~
- {1)Only A (2) Only B
(3) Only A & C (4) Only C
(5) AA B&GC

the foli Dwmg organisationstook
_ place’in Brazil recently ?
Hael 2 G20
(3) SRARC  (4) ASEAN
{3) Rc{r‘
. During t‘fw recent Depression
workers in Devclopecl countries
. preferred. to take inferior jobs
'mstﬂa,d of lay off. This situation
s known as : :
5 { i) Seasonal un ezﬂpl(}y'nent
{2) Cyclical unemployment:
\3} Disguised unemployment
4 Vohmtary unemployment
=@J/N”one of these
20.

of Fo@t[{}aﬂ"r’

{1} Corner kick

(2) Wide out . (3} Linemen

(4) Followon (5} Fullback~"

On which one of the following

issues, there had been a dispute

between IRDA and SEBI ?

{1} ULIP products-.~

(2§ Viclation of SEBI guidelines
in respect of investment by
big companies in equities

21

Dévlelopm_ent

The second summit of wblch of |

Which of the followmg terms is |
NOT, assomated Wlth the game i

-

286,

(3) Vlolatlon of

about dlsclos;ures' to be made

: by the Companies -

‘(4) " Overlapping of the functions
~ of IRDA and SEBI
{5) None of these

22. As per the reports published in

various newspapers Maharash-
tra and Gujarat have signed an
agreement on linking of major

" rivers of the state. Which of the
following is a common river be-

tween both the states?
\ g(/],}fNarmada (2) Ganga
(3) Krishna 4 Betwa :

" (5) None of these
23. We: have notlced at on several
- occasions that cost of petroleum
products fluctuates frequently.
The action of OPEC members at
times to 11m1t output and fix pric-
es may be understood as an ac-
tion arising out of -
(1) instructions from WTO
;;{;ﬁ?-liluctuaﬂon in output
(3) practices of the oil industry
(4) group dynamics
(B cartel
24. Which of the following countries
won the FIFA-World Cup 2010 ?
(1): Germany - (2} :Netherlands
(3)- South Africa -
{4)ySpain.  (5) Brazil -

' 25. Who amongst the followmg is

NOT a Badminton Player?
(1) Aparna Popat :
(2) Saina Nehwal
Lg}’ﬂf V.S. Laxman
“4) P. Goplchand
15) ChetanAnand _
‘What s Bllatera] alcl ?
(1) It is technical aid given by
1.M.F. to various countries
. (21t is given directly by one
<" country to another
(3) It is aid with the condition
that the repayment will be in
inconvertible Currency
(@) Itisa commerc1a1 loan made

available by var1ous 1nst1tu— :

; tiOl’lS Jomtly s
(5). None 'of these B

. 27, Who arnongsi the follmﬁng is the
“author of the book ‘A Hmalayan_

Love Story'?
Y Y’ﬁarutha Cokhale
{2) V. 8. Naipaul
{37 #Anita Desai
(4) LeaxamiSehgal
 (B) None-cof these

28. Which of the following is the |

" 35. "According to Planning Commis-

ged s _emﬁcally to develop sm'ﬂl v
scale mdustmal sector in our

country?
(1) NABARD {2) SEBI
{3)-SIDBI (4) AMFI

(B) None of these
29, Who is Nandan Nilekani ?
(1)-Chairman, Unique Identifica-
" tion Authority of India
(2) Chairman, Airport Authority
of India
(3) Member, UGC
(4) Member Planning Commis-
~ sion '
(5) None of these
Which of the following countries
will host the next SAARC Sum-
mit? -
(1) India . - (2) Bhutzm
 (3) Nepal (4) Fiji
{5y None of these
Which of the following organisa-
tions/agencies is specifically set
up to boost overall rural devel-
opment in India?
(1) RBI (2) SIDBI' |
(3)'NABARD (4) SEBI |
(3) None of these
Commonwealth Games 2010 are
to be organised in Delhi in the
monthof:
.(1/],9Ctobe1 _
{3) August
- (5) September
33 Which of the following cups is
* associated with the game of
Hockey'? ) |
e ‘Agha Khan Cup g
(2] DCM Trophy
(3). Dav1s Cup
(4) Derby Trophy
(5). Rovers Cup
34. Which of the following is a horti-
cultural crop?

31

3z2.

{2) Ndvember
"4 December

(1) Urad (2) Jowar
@}KBsgra (4) Wheat ‘
(5 Manga

~ sion, the degraded soil of which
one of the following States; pos- |

. ‘esa big threat to food security
and can cause serious econom-
ic implications to the nation?
(1) Haryana
{@)<Uttar Pradesh *
(3) Madhya I}rade,/eh
(4) Karnatakapy(8] Punjab

36. Which of the following organisa-

tions maintains the Rural Infra- |
structure Development Fund |
(RIDF) ?

L B e b L R Py Ly ey o R o

hame of the organisation creat-

.....nfd foctfamionf |
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38, According to RBEL whs:h

S EPRBE S8 0 ;
43) SIDBI AP TIC
~ {8) None ufthSP

7. Which of the fullowfng is/are;
- trdeaboutihe f“‘ompeuucm Com= :

missicrn of lndia [CCNH? -

dA} CClisa regulatory body hav-!

ing quasi-judicial structure.

(53

oid Monopolies and Restric- |

tive Trade Practices Act.

{3} Its main objective is to cre-
te ahealthy envxronmeni )

corporate worlu
{1} Oniy A ;
L 48h Only C .

sl 1\|0n<= oi thesp

the following is the biggest con-
1 of the country?
i1l 11518 in, Burope
(@) Artiation
*'5 GDP growth
{4y Mq ﬁirkﬁcﬂ ;
NN :)"w of thes

@8. Which of ¢ sfollowmgmé,amm
honﬂ has. recentiy launched i
“Farmers’ Information Servicevia’

SWIS™ to belp farmels in Gujarat

3 “JABART?

gb] Nore of rhe

46, Or'which one of the | followi ng‘ v

couniries, the United Naticns
v Souncil (UNSS! hes im-
anctiong?

Lioya: o USENorth Korea
(O} Sudan (4) Myanmar

4% Muhammead Yunds of Bang-
- ladesh who wags awarded Nobel |

prize a
FRGHS " RTRE
V{2 Bobnomiist
{3} ‘Bocialworker.
4} Scientist
{B] Mone Ofﬂ’}(':str

T

'few years be

ls & novel writ-

Amita Desal

{2} Arundhanti Roy

3] Riran Desdl

4) Khashwant Singh

r\jﬂlﬁma neof these )

‘ amongst the following is a |
L:Lhox

'_,ik e Bﬂdgal

2) 5. 0. Jamir

-

e

11 s established 1o replace |

one of |

s ﬂlectec} ‘or a permﬂ of &

- (8) Delhi

@4

; ﬁZO}LO’ in WhiCh of the
followmg c1t_1e<='? ik
L) Tondon

{3) Tokyo Moronto

(8) None of these

45, "1 hie Government of India hag
tablished a strategic reserve of
abouf 5 rmlhon tonnes of whmb

J/ T attending school
: {@) Those whoare gétting Nanon
al Old Age- Pensmr

’5} Nmaﬂ of these

W hich ofthe *ollo‘mng iu NO’F al

ashiCrop? 1"~
(11 ’E‘obacm {8y Cotton
(3) Coffek * (@Aaja’ﬁ
'_3’1@\ Mfﬁmb?rs of the ‘?ajyﬂ. Sabha are.

} 4VC"LI‘¢ Heioy Eyears

U3 }ao years é j: S'-year.s'
l'S) None of these

A%, The ICC Cricket World Cup Fi-

nal:201 1 will be nlayed in which
.of the following citigs in India ?
{8, o Gutmination,

; 3l 4} Chennai -
None of Lheoe 3 S0t 3

O% 4}30% 5

(B BO%

2 Pa_n%.;'" T

Fm- the ava.ﬂabnhw of all
Books and Maga?mss of

KWAN PRAKASHAN PVT. LTD. ‘

_m‘,‘ KQLKATA

Contact i

?\'.‘{ /S KANCHAN BOOK. STORE '

I

Old Magazmm are: also available

the 987401 628]

. ENGLISH LANGUAGE
Dxrections (51 65) Read the'

,__'fcllowing paSsage carefully and an-
swer the guesltions given' below it.
?Crartam words/ phrases have been

printed in bold to help you locate them 1
while answering some of the question.
Organic farming is either really
sxpensive or really cheap, depending
on where you live and whether or not
you are certified. Not only are the “nat-

Cural” pestlmdes and fertilizers increas- -
: ‘_mgly marketed by agribusiness as

ostly as or costlier than their. chemi-
0 nterparts but provmg you are |

an organic farmer requires certifica- |
; ‘tion, which is time- consuming and
Vm:pensnfe ‘In the USA converting to

organic agriculture is a huge under--
taking for commercial farmers. who
have re’lied.on chemical fertilizers and
pesticides for many decades, but in

India, the conversion is no less ardu-

ous and far more ironic.
Indlas farmers are “still mostly i

; "practlsmg organic methods, passed
down for millennia. Organic fertilizer

and natural pest control are the only
kool% available to most of these farm-
ers, who have always lacked the fi-
nancial resources to explore chernical

- solutions. But these farmers, whose
'j_nroducc is as‘organic as. they come,
cannot afford to pay, the fees required

to gain official certification.

" As'the international community
adopts standards for organic agricul- |
ture, the challenges faced by farmers

“in the USA versus farmers in India'in

order to'adapt are very different in-
decd. The dangeris that the well-

“htentiotied global move towards or-
‘ganic stanidards will make small or-
“ganie farmers in countries like India,
who havé never done anything but
‘prganic fai-mmg no longer ableto sell
5| :th. u‘ crops.’

- Iri response to the $26 hillion

: 3-5.gjobal. market: for ‘organic foods, the
Indian Central:Goverdment set up a

National Institute of Organic Farming

:in October 2003. The purpose of this

instituteiis te formulate rules, regula-
tions and certification of organic farm
products in conformity with interna-

| Hional standards: The institute has its

offices Across:the-conntry and has

-appointed certifying agencies for or-

ganicfarm products for the domestic
market. The certifying agencies are
accountable for eonfirming that any
product sold with the new “India Or-
ganic” logo is in'accerdance with in-

o of this ,vof"ld is faofwkmas wth od

—New Testament




terna 1on crxtena ancl launch ma:]or
awareness and’ marketmg campalgns ;

in India ancl abroad,

Organic farming has been iden- .

tified as a major thrust area of the
10th plan of the central government.
one billion rupees have been allocat-
ed to the aforementioned National In-

stitute of Organic’ Farmmg alone for ‘

the 10th five-year plan. Despite this,
most of India’s organic farms are not
officially considered organic. Most of
India’s farms are “organic by default.”
The irony and difficulty of the new
governmental push for organic agri-
culture is that 65% of the country's
cropped area is “organic by default,”
accordmg to a study By this some—

small farmers located mostly in the
Eastern ancl North-Eastern regions of

the country, have no choice except to-
farm without chemical fertilizers or.

pesticides. Though this is true in many

cases, it is also true that a significant

{ number of them have chosen to farm
organically, as their forefathers have
done for thousands of years. Many
have seen for themselves the effects
of chemical farmmg— soil erosion and

loss of soil nutnents loss of nutrition.
in food, and human diseases result-

_ing from the chemicals that inevitably
seep into the water table, all the rea-
sons for the urgent demand for or-

ganic foods and farming. - - ;
India currently has only 1,426
certified organic farms. This statisti-
cal diserepancy reveals that the weak
link in the organic/economic chain‘is

certification. Under current govern--

ment policy, it takes four.years for a
farm to be certified as. organic. The
cost of preparing the report is a flat
fee of Rs, 5,000 and the certificate
itsell costs another Rs. 5,000: While
- these costs are bearable for the new

industrial organic greenhouses; they |

are equal to or more than an entire
vear's income for the average small
‘1 larmer, if the costs of- travel and m~
spection are.included:. :

Inthe United States an: orgamc e
farm phn or ‘organic handling plan .
must bBe submitted to a USDA -

accredited private or state certifica-
tion program. The plan:must explain
all current growing and handling meth-
ods, and any materials that will be
used —in the present, and any future
-plans must be included as well.
Records for the last five years must
be pregented. Land must be chemi-

‘cal-free for: three years prior to har-

vest, soa conventtonal farmer cannot ;
‘receive the organic label for the tran-

sitiomal - years. This will generally
mean a decrease in income - crops
may be less plentiful than with con-
ventional fertilizers and pesticides,

_and yet the higher price for organic

products won't yet be, possrble Many
farmers cannot afford the transﬂ;lon

‘even if they want to.,

One solution'to the small farm~
er's dilemma of how to both certify

- and survive is that of community cer-

tification. In community certification,

communities, on a non-profit basis,

take charge of the certification pro-
cess themselves. They evaluate the

- farmer’s commitment to the steward- |
ship of the soil, and examine from

many. angles whether the food is be-

Ing grown in an enwronmentally sen-

sitive way or not, rather than techni-
cal standards. While community cer-
tification may be a viable solution on
the local level, it is our opinion that,
in the global marketplace, less than
exact technical standards will never
be enough for today's consumer- and,

'in today’s largely poisoned environ-

ment, it shouldn't be, either. Further-

more, much “soft” guidelines can eas- |

ily backfire on the farmers them-
selves, as a system not based on facts
must be by definition subject to local
politics, bribery, favouritism, etc.
‘India must find a way to keep
the strict international organic stan-
dards intact if it wants to compete in

the mternatlonal market for organic’
foods- but is there a way to doit with-

outleaving small farmers out in the
cold ? One obvious solution is for the
government to subsidize these certifi-
cation fees enough to make it a via-
ble option for ordinary farmers, not

_just for neo-organic factory farms and

greenhouses. Banks also could pro-
vide a more level playing field for small

farmers. Currently, almost bank loans

are for pure crop farmers. While

~many of these big-business farmers.
use harmful chemicals and process- .

‘es, small’ farmers fertlhzmg their soil

with’ recycled orgamc wastes are usu-

ally ineligible for insurance, much less

state subsidies.:

51. What role does the National In-

stitute of Organic Farming have

© to-play in the organic farming
area? :

(l) To: set standards for the im-

port of material required for

organic farming within India

NABARDASSISTAN_:_MANAGER EXAI

products conform to. Lhe in-
ternational standard for or-
ganic foods.

(3) To suggest methods to farm-

ers for producing the best

organic products,

. (4) To import the best organic
foods from international
countries and harvest them
in India.

(5) To set up agencies interna-
tionally for the marketing of
Indian organic produce.

52. Which of the following is possi-

bly the most appropnatt title for
- the passage ? :
7 (1) Agnbusmess in Incha

(2} Organic Farmmg in India - -

Anlrony

(3) Inorganic Farmmg A Health

Hazard
{4) Small and Marginal Farmers

(5) Organic Farming in India and
the US

[2] To ensure that Incham farm

53. Why, according to the author, is |

- the term “organic by default”

degrading ?
(1) AsIndian farmers are adopt-
ing incorrect methods of or-

. ganic farming, thereby ren-

dering the crop useless

(2) As the crop cultivated out of

organic farming is rejected
by most international agen-

.o eles.

(3) Asall the farmers in India do
not have any access to chem-
ical fertilizers and pesticides
to carry out inorganic farm-
ing , .

(4) As the Government has is-
sued a directive to farmers
in India to carry out organic
farming alone

{5) As it means that the farmers
in India cannot afford to use
anything but organic meth-
ods of farming - :

Which of the following are rea:

farming ?

(A) Consumption of inorganic
food has givén rise to human
diseases

(B) Excessive use of pesticides |

has caused soil erosion
(C) There has been a loss in soil

nutrient value of soil due to

chemical farming

. sons for the increasing demand.
for organic foods and organic:

R e 4 PRI |
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55.

_ .'[4) As certification sought inithisi|
. mannermay give rise tovest- |
ed interests 'and also not.
meet the stringent criteria

56.

57.

= (4) Indian farmcrs are accus— ;

..(2] Only [Aj ancl( il
(3) Only (C) ;

(3} Only {B) and (C}. |

{4) Only (B) and (C)

(5) All (A); (B) and [C) are true -
“Why according totheauthor, will |-
‘the rdca of commumty-certlﬁca-' i
S forg notw0rk‘7 S ; g
e HIAS ‘there may not be nough"
o~ peéoplein the community to.|
S workon a non-pro_tbams i
(2) As the farmers‘may not be’[ |
Sl forthcommg in prcmdmg An-iF.
“ formation:about their cultiva-|
nd thuslead |
-+ tothe failure of this system | -
_ {3) As:the certification grarited:|.
“through this scheme will not |-

tion practlces

‘be authentic at all -

laid down globally
(5) None of these
Which of the following is TRUE.
in the context of the: passage?

-.'(A) The Indian Goverrument is not |1
“in favour of acquiring certifi- | ./
,ebal stan—=_

catmn to’ me

':,_[B] The process ol cert ﬂcahon.,_
-is quite tlme-mnsuﬁung and .|

- expensive.

(C) The farmer: docs not ‘earn. 5
much during the three -four{
. years that il takes to gei cer-’

tification

(1) Only (A) and (©)

(2) Only (B) -

(4) Only (A)and (B): -
(5} ALL(A), (Byand(C)
What accordmg tothe author, is

a major problem. w1th Orgamc-

: Farrnmg in India ?.

[1} Desplte thelr orgamc n_ature

~ attention to orgamc farrmng

in Ihdia thereby promoting |
inorganic farming to a great |-

-extent

(3) Only recycled: orgamc waste:

is available to Indian farmers
~ for:the purpose of orgamc
fannmg a

g to .
: group of words prmtcd mbold as used ;
'1n the passage i :

(5} changed

(1) avoic ably
(3) certainly
i '(5);pre’c'iic’tab1y :

 ‘tomed tothe usage of chem- | nalt

: r-_lcals and the'r;farms have | i
- now startecl 10s1ngthe1r fer—-.

: ‘(5) conﬂict

' :1 ,the word/ phrase prmted i bold in!
: _the sentence to make it grammatically |
i correct .?‘ If the sentence is corrcct as

: 68 Despite having passed out from

.~ 65) : Choose
,ords whlch 1s .f

7 g nearly the same o'r opposme in mean-
St St | "ing. Find the'two words which are rnost.
{2) mostly 1

s i nearly the same or opposite in mean-:
[4] expectedly

5 combmatlon is your'answer

(2] off hooklﬁg :
a8 }forlhe hook S
i (4} of hook !

'.'67-.'.'.4_'Smce Sl'nlpa was ov "‘.r
. with work, Deepa de: ded toi
' gave her hand. i
A1) gw_mghands'
“(2)'give her ahand "
Lt () -giving her handful
. [4) gave her hands
*“5) No correction required

- - ".school over ten yea: - back, most
i schoolmates has kcap t«auch with

“fact that Her actions-wotild have:
- terrible repercussions.
(1) was:well aware of -
(2] has aware for
-(3)1 awarf-t ik k
e “ i awarén 155 W1th
“{5) No:correction reéquired
. ‘Shashi tried as hard he would’
‘to win: the race but fauled to do
s0. :
" (1) ‘as hardly so he could
- (2) as hard‘as he c0uld
i "‘(3} hardl_ 50 as ot

ing. The numb‘er of the correct letter

_ [Dj Mdl’t)fl

s



“72.(A) Mégneiic W {B}.-Cherjils,hed :

{C) Valued (D] Forlorn
1) C~D: (2} A=B
{8) BRD B ae
(ByA L e LS 0
73. (A) Ordinary - . (B)Vague
(G Custom - . (D) Exceptional
() A-B 2 BAE
G Pe e 4) A-D
(5) B -
74. [A) Damaged
(B} Hurried
“(C) Condemned
(D) Measured . .
(WA=B . .2 ) 0 D
@B-D . (@.BsC
(B A D i el
75. (A):Remote’ 1. (B) ’P_rou,bled
(C)-Secluded (D) Apparent
(B ood L rA- D
3 B-D (4) c-D
B A-C

Divections (76~ 80) : Rereditige,
the foliowing six scntences( J.AB), ([C),

(D), (EY and [F) in the proper sequence . |

to form a meaningful paragraph; then

- -answer the guestions given below

therm. :

(A A legal framework-is thus,
now available for promoting

energy efficiency in ‘all sec- |

tors of the economy.

(B) The increasing preference for
 comnigrcial energy bas Jed to :
" a sharp increase inthe de- |
© mand for Piert"xcity ;;md ios- |

© sif fgls. 74 4
(C) There JS"SUM a mnmdm able'
© potentidl for repairing such
damage and reducing ener-
gy consumption by adopting
energy cfficiency measures
at variopus sectors of our
countyy:” : ;
(D) This framework is nothing but.
the Energy Conservation Act.
2001, the success of which'

greatly depe_nd% on the peo- -

ple who take the lead in sup-
. porting this programme.

(E) This use of fossil fuels haq

. resultedin emnission of a huge

S quantity ol carbon dioxide
causing bﬁI‘iQUS f‘nmmnmf*nm
tal damage ; ; ,

.(F) These adopted mea&ureu wﬂl

not only reduce the need to

create new capacity reguir- |

© ing high investment, but also
result inn substantial environ-
mental benefits.

. 7,

errorin/itiThe err
‘one part fthe: s ,
‘berof that part is the ans re:
i “is noerror, the r:m g

2

96, Which of thie following should be

the FIRS’I‘ ‘seritence aﬂer rear- .
rangement ?

ekl HHL AR
AHENE
OB e
“77. Which ofthe fonowmg should be*
the FOURTH sentence after re-
AT angement 7

(UE 2rF
B A 4D
BB .
78. Whichofthe iollowmg should be
- the SECOND sentence after re-
'-azrangr;mellt ? =
(1 B e deLe
. ieLD S ;'(4-_}._.E
. 1B) F : i L
~Whichof the follewing should be.
the LAST (bk’XTH] sentenf,e af— 3
ter reanangement‘? v
A L A2EB
B¢ . .(.,43-;3_
B 5 i
80. Which of the fallowing shOuld be
the. FKFTH séntence. after rear- |
rangement’* : _
AT e IR
3c DD
(BYE

Directions (81 - 90} : Read each
qem&nca to find out whether there is
any grammatlcal error or zdiomailc

errors of punuuaimn ifany). - :
" 81. More than half of the food prod-
Cucts [H/ tar g,et{,d at babies and
“toddlers have {2) )/ a high sugar
content and are (3) excessive
sweet. (4)/ 'No error ().
The foreign’ company has so far

on the Indian compary's move,

(2)/-which analysts say is a sign-

: 'me company Wam.mg to (3)/
- fight for its presenee in the mar-
ket. [4)/ No errox: (5)
83. After forty years of trving to{1)/
: unders{emd why asbestos caus-
¢s cancer (2)/. researchers have
now finally A3)/ unr avelled the
mystery. {4} / No en ori(B) " .
L pronertv dealerwas (1}/ shoot

dead by four unidentified jack-

et-clad men {2}/ while taking a
moming walk {3)/ in apark. (4)/
No error (b) ;

Carvifire of nur wiches is the true test of love.

if any, Wﬂl be in

"nomic (@1) since 1980 !
declined to {1)/ mrectiy comment '

- have been

85. The auditiondor Indis’s fi
{1)/ reality-based pop i G
hunt, is (2)/ going on-ir: full
bwmg (3)/. with maumeraus.an-

.o tries came in. (4)/ No error (D)

86. To curbing the spread ol vie-
lence; (1)/ authorities yough‘
under curfew (2)/ more arcas i
the State, where (3)/ .t
youths were killed. {4}/ No or-
ror (5)

- 87. Demand for dicse
has { 1)/1)@‘1 on the
last few years, {Zi/ 3
the government is inc reasing h‘
price {3} of the fuei, bringing it
closer to that of petrol. (4 ,) / Mo
error (5)

88: Not only was the actress over
7 the moon (1)/ as v*mnfng an
raward; but was (2)/ also deeply

touched by the support (3)/ st
got from the industry. {4)/ N
; error (5)

89 The protestors wentl on a ran
paging (1)/ and stt ablaze three
shops (2)/ resulting in injuries
“to thn‘tv people {S)f including
women and children. {4)/ Ne
error (5)

00.. Hectic schedules car (1)) take
a toll on anybody and 2}/ tht
solutions ‘o this is {%)/ = quisl
holiday to some cxotic location
(4)/ No =rror (5)

- Directions {81 .~ 30 in thy

foilowmg passage there are blanlk

| each of'which has been numbered
| These number% ore printed below th
| passage and against eath,

word
re suggested, one of which fiis th

He

hiank appropriately. Find out the ay
ProY 3 ]

propriate word in each case.
India has berome, i

ing power parity terms, the o

est economy in the world. !

chay

(il

among the (82) rapid. Although 'nidi

‘managed its one incipicnt erisis in tk

early 1990s. it avoided the catastropk

| ic losses {938} While many (84) th

exposing India’'s economy to glob:
competition would reveal India’s e
nomic {98), it has rather :
strerigtlis and often unexpects
strengths in new areas no | g

would have ig(il of. India is incre
ingly taking its (87} on t the global stay
andin international forums as a 21
century stperpower. The generatior
of politicians and policy n
G8) of leading 'ndia
where it is today cen be justitiably
of the transformation. But aci

~oynale
2Aalg

o P

N e

m-w'” T, hm



ments create new
are ~irgproving service dehvery, par-

ticularly to the poor, through greater |-«
accountability and expanding the ben-

efits of rapid growth-across sectors,
regions, and people.

91. (1) decline (2) policy
{3} crisis (4} treaty
(5} growth :
92, (1) several (2) very
{3) most {4)much -
- (5) so. o .
93, (1) end.  (2)deterioration |
(3) thus ' (4) together
(5) elsewhere :
94, (1) asked (2) feared -
- {3)think {4) spoke
{3) believe:
98, (1) growth (2} space..
{3) gain (4} weakness:
(8) void: iy :
96. (1) questioned

{2) dreamed ‘
(4)plan

{3} arranged
{ wanted
g97. {1) matier {2) place
(3} life: {4) generation
. (B} mark
98. (1) part (2) issues |
(3)humans ~  (4) figment'
(8) thought T
99. (1) worried  (2)angry

(2) honoured -
(4} distinguished
(5]} proud

(1) impossihilities
{2} evaluations
{3) challenges -
{4} comparisons
[5} dangers

100,

Directions (101 ~ 105) : What
_will come in place of the question mark
(?} in the following questions ?
101,{0.7)% = (0.343) = (0. 7%

(i) 8 @6

(@) % v AP i i

J#rNone of‘thesédj' e
1%1575-+ 21'¥5= fox6

¥ 6.25 @ J3E

{3) 62.5 [4) 2.5
{3) None of these

+ (0. 49}3

103, 56 x 125+ 05 + 155 = 7+
106 (2} 110
75} 120 {4} 156

(%) None of these

i

11001. two of h‘ieh',;'_-;-.

5 QUANTETAT!VE APT!TUDE

W7 - 1]2 =8 1T 0 G
VLB o, - Pt
@9 o U ERT
(5) None of these

105. 32.5 x 26% of 450 + 3 -
745.5 =7
(1) 542 (2):522 .
(3] 632 L4812

{5) None of '.these .
Directions (106 - 110} What

: .approximate valtie will come in place.
~ofthe questmn mark (?) in the follow-

ing questions 7 ? Wou are not expected

i 10 calculate the exact value)

1
Azit _._..,- L N 4.¢_—?
“%2 X 1 >< | .

(I] 2 : (2} 4
810 4) 15
7
107. (14.98)% - (3.99)° + (8.01)>
%@75 Fon 1D @the
) 700 (4).580
(5) 540,
2@ 35.01% of 999 + 19.99% of 601
: =7
: (1) 580 470
(3) 400 'f%}f 540
(5) 420

| 198699994 - 3001.01 - - 999.09 =
' - 4999:91 ‘

%401 —2998x996-10001 |
=0

(1) 460
*@Vsar
5) 200 -

Directions {111 - 115} : What

will come in place of the question mark

(?) in the following number series.?
}1 18 96 161 213252 (7)

(2) 550
(4} 250

(1) 264 - (2)278. -
(3)-265 291
(5) None of these
};2 7 13 24,40 . 81 (7
©).92.
_ : (3} 89 493 -
i Bl None ofthese iy g
.1&8 12 39 55 180 (7]
4216 {2) 2887 T
(3T DAg | Cdd) ven.
: {5) None of these
g8 719 80 BT T
{1) 107 2) 113
(3) 109 44103
5) None of these
%/%59 423 255 171 129 (3
1) 118 (2) 107
(3 98 (4) 02

%None of these \ @

" | following questions two equations'num-

_ estabhshed

 120. 1.

| 123.

124,

Directions (116 - 120) In the 4
bered I and II are given. You have to |
solve boeth the equations and -

Give answer (1) If x>y

Give answer (2) If x>y

Give answer (3} If'x <y

Give answer (4) If x < y

Give answer (5) If x=

or the relationship carmot be

116. 1. x2 m,-/u?z‘ge)”? =58

1. ()73 x ()42 - 262 = 250
117. 1. 2x+ 3y =19 s
. IL 7x -4y =23
118, 1. »2 + 12 = Tx
. y2+ 30 =11y

19. I 16 +/x+18 =

1. y? - 640 =321

Jizl

18 7
1 “—”\@‘“‘”

121. Aman sold an item{or Rs. 6,750

. at a loss of 25%. What will be

the selling price of same item if
he sells it at a profit of 15% 7

104} Rs. 10, 530

{2) Rs.9,950" @ Rs. 10,350
. W) Rs.11,340 ..
(5)-None of these. . 1
The sum of the circumference
of a circle and the perimeter of
a rectangle is 132 cm. The area
of the rectangle is 112 sq. cm
and breadth of the rectangle is
8 cm. What is. the area of the
cirele ?
(I) 616 sg..cm. .
(2) 540 sg. em. .
(3) 396 Sq. cm.
{4) Cannot bedetermined
(5) None of these
The cost of 5 kg of apple is equal
to the cost of 12 kgs of rice. The
cost of 3 kg of flour is equal to
one kg of rice. The cost of one
kg."of flour is Rs, 17.50. What
‘is the total cost of 3 kg of apple,
2 kg of rice and 4 kg of flour
together ? s
(1) Rs. 543  (2) Rs. 527
{3} Rs, 583 (4} Rs. 563
(5} None of these
Thirty five percent of 740 is 34
more than a number. What is
two-fifth of the number ?

122,

Knowledge comes, but wisdom tmgers

—~Lord Tennyson
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\,{1] 45 — s
(3) 180 14):120
(5) None of these

125. The ratio between the ans{leq of |

a quadrilateral is 61 3': 4 : 5.
'The smallest angle of a triangle

is one-fourth the largest angle of |
the. quadnlaieral Largest angle
- of the triangle is.10° more than -

second largest angle of the tri-

angle. What is the second larg-

estangle of ihe triangle ?

(1) 80° (2} eo°

(3) 70° :

(4) Cannot he determined

(5} None of these -

126. A train covered a distance of
/ n in 19 hours. Also, the

‘average ‘speed of a car is four-

‘fift_h the average speed of the,,\

-ages of Meera and Pnya is 3 4
; respa:twely 'Ten yours ago the
ratio between their ages was 4
7 respectwely What Wlll be

. Meera's age after 5 years ’

(1) 18 years (2} 24 years

(3) 23 years (4} 29 years
| sz +(B) Nom these. Fae e e
128. The"a\} marks ol ne stu- |
; oup is 63,_,’I‘hree Qf :
‘marks of-_t -emamlng s1x stus |
dents ? ‘
63567 “hi)EL
[B)es L s
(5) None of hese S0 :
129. A bag contains 7 ed balls, 4

green balls and 5 yellow balls.
What is the probabrhty that 3

balls drawn at random’ are either |

’green or yellow ?

e
W g i
g

© Zep W 3g

(5} None Df theqe

the same pléCe of _ ork" -

(1) & @) 8

@ 12 e i gk

(4) Cannot be determined
(5) None ofthese

Directions (131 - 135) : Study the followmg table carefully to answer

| the questions that follow :

Number of Clerks and Ofﬁcers recruited (in thousands} by five different
! : ' banks dm-ing six different yea,rs

"} 132

of Officers and Clerks récruited.
together in the year 2008 is sec-

ond highest ?

(1) E 2)C

@B ) A

o o

.What,sj‘v‘ s the respectwe ratxo

- between the total number of Of-

(330,000
i B None of these’
- 134.

JF Clerks recruited continuously
‘.mcreased during the year 2004

185,

: the number of Clerks recruited
'bv bank A in the yea1 2009 ?

[ e e 18

2).31 :

@) 18: 35

@) 1942210 _

(5) Noneof these -

. What was the average number
. of Officers recruited by Bank:.C - .

."(__:»vef_r all the years ?
(1) 3,000  (2) 5,000
(4) 5,500

'In Wthh bank the niumber of

t0' 2009 7.

(1) Only Diand E
(2) Only B

{3) Only BV,

{4) OnlyCand D
(5) None of these

Total number of Officers recruit-
ed by all the banks together in
theyear 2004 was approximate-
ly what percentage of the total

: number of Clerks recrmted by

Ay 112 :

bank B in'the year 2008 and | s :
Pl IST. What is the dlfference hetween

2009 Logether‘ 2

@ 93 f*- (4} 127 ;
(B) 102 '
| Visit us as

- ficers recm1ted by bank C; and |
D togetherin the year 2006 and

“Year| A b Bk | "_c DR

‘ Clerk | Officer Clerk Officer| Clerk | Officer | Clerk | Officer | Clerk| Officer |
looo4|42 |16 | 36| 22| 53| 38 | 69| 56 |77 6.9

2005|52 | 27 | 58| 46| 60 | 40 | 70| 2.8 |88 4.4

200633 | 39 |49 ('28 | 64| 46 | 95| 78 |99]| 79

9007 5.7 | 41, 58| 56| 79 | 67 | 86| 63 |11.5 9.8

200869 | 39 | 69| 57| 58| 6.4 [11.7| 9.8 |14.8| 11.3

{2009 72 | 55 [ 89] 51| 68 | 55 |10.6] 89 [169/107

131. Inwhich bank the total number Directions (136 - 140) : Study

the following Pie-chart and the table
given beside it carefully to answer
these questions. §
Percentage wise Distribution of
jecturers in Six Different Subjects
. in a University -
Total number of Lectureys : 1600
Percentage of Lecturers

Ph ")]C‘:‘
14%

Ratio Between Maﬂe and Female
Lecturers in the University

Lecturers Males| Females
‘Mathematics | 3 4
Education 57 3
'Hindi 1 3
 Chemistry 1 7
. Physics 9 o
Zodlogy | 7. 9

136. Total number of lecturers (both

. male and female) in Hindi is ap-

‘proximately what percent of the

total number of female lecturers

in Mathematics and Chemistry
together?

(1) 38 (2) 43
(3) 47 . . (4) B1
(5) 40.

the total number-of lecturers

-~ (béth male and female) in Zoolo-
gy and the total nurnber of male
lecturers in Chemistry and Ed-
ucation together 7

(1) 192 (2) 182

way e ¥ ¥ T ¥
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(3) 146
(5) None of theSe

(4136

138

. . malelecturersin Hm_d_l ?
(1 1_56_. (2) 160
(3) 150 (4} 153
(5) None of these
. What is the total number of male
lecturers in the university ?
(1) 696 (2) 702
3) 712 .(4) 668 -
{8) None of these
- 140.
. tween the number of female lec-

turers in Physics and the num- | o

-ber of male lecturers in Mathe- |

matics ?
1) 5:'9 2102:9
(3]'3.: 7 4 5:3

.(8) None of these

) Directions (141 145] Study. g
the following graph andlanswer theil

questlons that follow, -
Number of Nat.ional and Interna—
tional flights (in. hundreds) can-
celled in six different years

BR National flights
[[J International flights

O B

Number of flights (in hundreds)
w0

[T R

(e} o e o )
o o =i o
N N N o™

141. What is the approximate aver-
age number of national flights
- cancelled over all the years ey

(1) 780, () 867
(8) 898  (4) 824
(5) 765

142. Total number of 1ntemat10nal i
flights cancelled in the years
2006 and 2007 together is ap-
proximately what percentage of
international flights cancelled in

What is- the diffcrence betWeen : %
. the number of: female lecturers‘
~in Zoology and the number of| - :the

| 144,

What is the respectwe ratio be--g

W '81-' 285

43):96 {4] 91
'.':(5) O

143.

mtematmnal fhghts ‘cancelled
over all the years ?

(1) 50O {(2) 250

(3) 700 (4) 450

(5) None of these :
In which year is the total num-
ber of ﬂlghts (both National and

Intematxona]) cancelled the sec- |

:,ond lowest'? e
? l(2}'2004‘

' (5) None ofthese oo

145. What is: the respectlve ratio be-

‘tween the number of internation-.
al flights cancelled in the year

2007 and the total number of -
national flights cancelled in the .
years 2004 and 2005 together ? |

1oy (2} 9 8
f3]' 16 9 (4] 85
 (5) None of these

; Directions (146 - 150) : Study
the following information carefully to

answer the questions that follow :
In a tournament, a total number
of 400 players have partimpated in five:

different sports, Viz, badminton, hock-

ey, Iawn tennis, cncket and baseball.

15 percent of the otal. players have |
& _-partlmpated m_ba n'nnton Two-fifth
| of the total players have participated
['|" in hockey. 6 percent of the total play-

ers have participated in lawn tennis,

25 percent of the total players have

participated in cricket. Remaining
players have participated in baseball.
One-fourth of the hockey players are
females. 20 per cent of badminton

L players are male. Half the players who

have paxt1C1pated m"'Iawn tennis are

males. There are 45 female cricket
| players. No ferale player has par'tlm- ;

pated in baseball.
146. Number of female players par-
timpating in badminton is ap-

_ proximately what percentage of
_the number of players palﬁapat-

- ingin baseball ?
(1) 72 2) 75 _
L3180 " (4):95
- » (B 86 :

147. What is the dlffrence between

the number of male players par-
ticipating in hockey and the num-

"What is the dliference between ;
i ‘total number of nat:onal‘-
flights and the total number of |

ms

(1)-92.
1=(3). 102

{4) 108
y (5) None of these, -+

i due to'certain reason cncket
_-.game was dropped and all the
" cricket players left the tourna-
ment, then what would be the .
total number of male players in
the tournament ? :
(iL.200. " (2) 210
@) 190 4 220
- [8) None of these
What is the respective ratio be-
tween the number of male play-
ers participating in badminton |
and the number of female play-
ers pa_r*iclpatmg in hockey ? .
{1) 3:11 @) 3:10
(SPGBl o (A 1] 6
(5) None of these
180, What is the total number of fe-
males players participating in the |

149.

tourriament ? :
(1) 130 {2):120
(3) 145 . = 1 :(4).155

~.[5) None of these

REASONING ABILITY

183,

151. Town Cis towards the South of
town: B and town A is toward the
North of town C. In'which of the
following directions is town A

“with respect to town B?

- (1) North :

. (?)}South

(3) South- West

(4) Cannot be deternmn (l
(5) West
How many such pairs of letters
are there in the word MARGINS,
each of which has as many let-
ters between them in the word
(in both. forward and backward
directions) as they have between
them in the Enghsh alphabetical

Seeptes 2l v

(1) None : (2] One

(3) Two (4) Three

(5) More than three

Ifit is possible to make only one

-meéaningful word with the third,
fourth, eighth and the ninth let-

" ters of the word ‘CENTURIES',

. which would be the second let-
ter of the word from: the left? If
more than one such word can |
be formed, give ‘A’ -as the an-
swer. If no such word can be
formed, give 'Z’ as your answer.

152,

the years 2003, 2004 and 2008 ber of female players participat- |- gj ? : %g
together ? ing in lawn tennis ? i :
: (5)Z
e A e b e e e L L s g e L R R e e T S AR o A




186 - The b
. senits the correct rclatlonship as | sxts to the nmmedmte nght of A D who | o e
indicated in the given figure ? | isfrom Holland sits second to the right
‘of B. Bisnot an immedlate nﬁlghbour :
Cwk 1 57

| 157,

“}-1e0:

the following information carefully and
| answer the gwen questtons

: .(l)None. A

8y Two {4) ‘Three
 {5) More than. hrce s
.- Which of the following repre~ '-

{Not necessarﬂy in the g;vcn se- :
-quence} oy e

(1) Vegetables : Apples: Fruits | = -
{2) Gears: Tyres ; Cars - :
(3) Cone Cyllnder Sphere iy
'.‘(4} Planets Solar system Gal--

(5) None of these : g
_Four of the. follo\mng five are- .

g Paper T (2) Wool

(3Cotton . * (A)Wood T ¢
- (B)Plastie. oo 1163,
158. _.‘Solidjem are related to Army el GG
ity ,the same. way as ‘Playt:rs are

: Pointing to a photograph Mohan

-

180,

~my: father's only-son”. Whose, |
photograph is Mohan pointingto?
{1)Brother's (2} Hisown: :
.+ I8)Cousion’s --(4-‘);Fathe'r’s :

i ={8) Nephew: : <
‘What will comein’ place of ques- ;
‘tion [?)"mark in the followlng set |

“ (5) Noneof these "' sl
Dircctiona (161 -165) Study e

In an international meet, repre-
i ;s_entatwes,A B,C.D,E, F,Gand H |
7 ._'f ' meight dlﬁ'erent countnes.wz Th&u-'.

166. The representative of which of

" the following countriesis seated |

- ‘second tothe left of Ind1an rep-
FE ‘_resentatwe Pt

' ."[l)Thailand

: '-(3} France &4y Spam

-~ (5) None' of these B

~The. representauve of which of |

i ..’the followmg untrles sll,s £X- '

i sentatlves fro

-when coimt_ec._l m clockwnse dl-

. (2) F slts second to the left of :
the representative from Thali-

n Wthh. of the followmg pa1r51 |
s the representatwe from ‘the
i "ﬁrst country sittmg to the imme-

: _';take the three gwen statements tobe |
true even if they seem to be at vari-
" ance from commonly known facts and
then decide which of the. given con-
clusmns logically follows fromthe giv-
| en statements disregarding common-
| ly known facts.

said “his mother's only child is.| 164-,_1What, is. the positlon of B w1th'
" respect to the position- of repre-
sentative from the. 11.5..2. :
,_(I)Thu'd to the left
ik (2) Fourth to the right
5 n(S}Fourﬂ)totheleﬁ
'(4) Second to the: nght
'- B) Second tothe left

_ 'clusmnl nor conclusion II follows

@us

actly inthe mi

e of the repre—
Thalland and
F‘rance‘? !

(1), Holland (2} Austria
{mGﬂmaW [%US

(5)None of these
Direction (168— 170): Read lhe

5 followmg information /statement care-
fully and answer the quesmons
}QB(Which of the following expres-

sions will be true if the gwen
e)qaresszon ‘K=2G > H Lo ol |

' ; deﬁmtely true i

AYASBZCiD
(2)A>B=C2D

—f{”‘s)A(B:CsD

4A>B<Cx<D ”“
'(5) None of these ;

). " | 170. In which of the following expres-

smn&wes&on

> R does not hold: true ?
(IM=P>Q >R

‘Give answer (1) 1f only conclu-

sxon I follows

‘Give answer (5) if’ both conclu-

' sion [ and conclusmn 1 follow.

AR IR L ﬂrf‘fpfﬂl@“
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173: Statements. :

175 ‘Statements :

_practlcable and feasible step or ad-

follow-up, ‘improvemen

17’1 Statements. oo
vo. ATl typhoons are cyclones
All winds are typhoons
All clouds are winds.
‘Conclusions: - .
I. -All typhoons are. clouds
IT. All clouds are cyclones B

1’?’2 Statements )
" Some floppies are keyboards.
All keyboards are speakers.
All speakers are monitors.
Conclusions :
1. Some monitors are ﬂoppxes

AL All keyboards are rnomtors

Some keys are
Some locks a_re_
All doors are eri ows
Conclusions:

1. Some keys are doors

I1. Some windows are locks
174. Statements: '
All islands are couritries.

All continents are islands.
All planets are countnes

Conclusmns :
[. Some continents are not
countries.

iI. No planet is'a-continent.

All buses are scooters._ P iy
"'Noscooteris a'train. = .
Some trains are jeeps
Conclusions e
I. Nobusis a trz—un
II. Some jeeps are scooters
Directions (176 - 180) : In each.
question below a statement is given
followed by two courses of action num- |-
bered I and II. A-course of action is a.

ministrative decision to be taken for
, or further
action in regard to the problem poli-

cy etc. On the basis of the informa- |
tion given in the statement, you have |
to assume everything in the statement |
to be true, and decide which of the |

suggested courses of actlon loglcally L 1. Poor students should be Bl

follow(s) for pursuing. :
Give answer (1) if only i follows
Give answer (2) if only 11 follows

follows.
Give answer (4) if neither I nor |
11 follows.
Give answer (5) if both land Il
follow.

~177. :Statement .A m1d—a1r COﬂlSlOl’l

e s

Give answer {3) 1f either [ or II :

il Strlcter regtﬂatlons should be '
. framed in order to pumsh the
“.poachers. -
I1. As.done in some sanotuar-

ies; the _ar_eas.where tigers | ..
hunt and the areas with-doim- | .

inant rhino population should
beartificially separated.

el ':Pilots of both of the alrcrafts
- should be immediately repri-

- _censes.
1. The training of air traffic con-
i -trollers should be improved

. and made more comprehen-
sive in order to avoid such
incidents in future.

Statement oil spill from the |

il carrier of one of the biggest |

oil companies has severely af-

- fected the marine life.in alarge

* areanear the gulfreglon s

. . Courses ofaction_

e

178

- -envu'onment

H;_:.'.‘Efforts should be made to .

~ shift as many marine anunals
m_th area as pos51b1e to saf~ ;

o 'rmg those_'

‘merit.
: -Courses of action s

. .:couraged to take admissions
only in Government run

ination does not exist.

11. The government should en-
force a certain percentage of
‘seats for students from poor
‘families in every school. .

e and th harrn Caused to the :

: _th sound ﬁnancnal '
X .background regardless of the1r' :

‘schools where such. discrim- |

i laria cases has been nsmg sig-
. nificantly in the. Clty since the
. last few mont i
Courses of action‘ 1
1. _T he.. mummpal authorltles-
~ should take. 1mmed1ate steps
“to destroy the breedmg plac—
es of mOSqmtoes and im-
prove hyg1ene in the area.
“1I. A campaign to, educate peo-.
© ple about the ways to prevent.
the disease should be start-
ed using local media and so-
cial workers.
Directions (181~ 185) ‘In each

| question below is given a statement
".‘followed by two assumptlons num-
| bered Tand I An assumption is some-
| thing supposed’or t
| You have to conisider the statement and
the following' aSS‘.lmpt]OIlS ‘and decide
; ‘which of the assumptlon
manded by revoking their Lt v

taken for granted.

is implicit

in the statement. Y

Give answer { 1
tion I is implicit. :

Glve answer {2} if orﬂy Assump—
tion I is implieit. *

" Give answer (3} ‘il eilher As-
sumption I or Assttmption Tl'is implic-

iz

Give answer [4) if neither As-

"_surnptmn I nor Assurnptlon 1 is im-
phcn

Give answer (5) 1f both: Assump—

| tions ['and Il are 1mphe1t
181. Statement : A l¢ading universi-

ty has begun a practice of dis-
"playmg results only ofi'the in-
ternet rather than the main no-
tice boards.
Assumptions: ... 70
1. Allthe studentsenrolled with
the university have.access to
_ internetat home. -
I1.. Most of the stuidents referred .
. to the results displayed on
~ both the internet as well as

.. thenotice boards ¢arlier.

182, ‘.Statément In order tereplen- -
" ishthenu tnents in the soil, it is

-1rrfportant to grow different

. lypes of Crops every alternate

season. )
'Assumptions : .

1. A crop.can never be grown
for the second time in the
same field. '

II If a dlﬁerent crop is grown
.in the successive sedason, no

- add1t1onaI nutrients such as
“fertilizers are required to be
. added to the soil.

o - i PO P o e e




chemical fe‘rtﬂizers.
Assumptions

I. Chemical fertilizers have cer= |

‘tain ill effects on health.
II. Chemical fertilizers do not

produce as much yield as the |

organic fertilizers.

184. Statements Store eatables in

the deep freeze in order to pre- :

serve these for a long time.

Assumptions:

1. Food material remains eat-
able even after deep freezing
for a long time.

IL.. It is not possible to store any

. eatable at room temperature
even for a shorter pE:I‘lOd of
hme :

Statements ol Ieadmg NGO
decided to open a library con-

1B5.

~ taining books and newspapers ;
of all major publishers in a re- -

mote village,

Assumptions :

I. All other nearby villages al-
ready have similar libraries.

II. There is adequate number of

literate people inthe village.

Directions (186-188) : Below in
each question are given two statements.
(A) and (B). These statements may be
either independent causes or may be
effects of independent causes or a
common cause. One of these state-
ments may be the effect of the other

statement. Read both the statements |

and decide which of the following an-

swer choice correctly depicts the re- |
lationship between these two state- |

ments.

Mark answer {1] if statement {A] 1

is the cause and statement (B) is its
effect. :

Mark answer (2) if statement (B)
is the cause and statement (4) is its
effect.

Mark answer (3) if both fhe ;

statements (A) and (B) are mdependent
causes.

Mark answer .(4) if both the |

-193. LB
=K

statements (A) and (B) are effects of
independent causes.
Mark answer (5) if both the

statements (A) and (B)-are effects of

SOIme COMmIMOon cause. . :
186. (A) The government has decid-
ed to take strict action
‘against the buﬂder responsi-:
ble for construction of the
bridge for having used low.

| MODEL SOLVED PAPER |
183. Statement If farmers Want to ;

improve their yield, they must |
use organic fertilizers in place of |

- 195.

quahty matenal Lhereby nsk-
ing several lives.
(B) The government has decxdk
ed to build a vehicular bridge
" over the river connecting the
suburban area to the city in
order to reduce the traffic
load on the main road.
v187 (&) Many. people prefer to bhop
. at the big retail chains than
the local: grocery stores.

(B] Retail chams offer adiscount |

of more than 25% as com-
pared to the local grocery
shops. o

188. (A) More than two bﬂhon pounds
of chemicals are spewed in
- theair everyday by industries
and VEthICS of some coun-
tries.*

{B) IntematmnalPolluhon Control. '

Orgamzatlon is: expected to
' penalize the countries which
“cross the maximum emission
limits. =
Directions (189-190) : Study the
following information carefully and
answer the given questions.
Aword and number arrangement

' machine when given an input line of

words and numbers, rearranges them

following a particular rule in each step.

The following is an illustration of in-
put and rearrangement.

Input : Spark 82 27 Uva 46 Beat

' - Omni73 ‘

~Stepl : 73 Spark 82 27 Uva 46
Beat Emnd o

NABARD ASSISTANT MANAGER E

189, Input : Oat 19 Eat 83 66 Cat 54

StepIl : 73 27 Spark 82 Uva 46
" Beat Omni ' !
Steplll : 73 27 82 Spark Uva 46 |
Beat Omni "
StepIV : 73 27 82 46 Spark UVd
; Beat Ommni ‘
StepV 7327 82 46 Omni Spark
Uva Beat
StepVI : 73 27 82 46 Omni Uva
e ,SparkBeat
'S_t'epVII 73 27 82 46 Omm Uva .
" Beat Spark
Step VII is the last step of
the arrangement.
As per the rules followed in the

above steps, find out in each of the |
following questions the appropriate
step for the given.input.

Fur. .
How: many steps Wlll be required
. tocomplete the rearrangement ?
“(1)iThiree "+ (2), Four .
(3) Five: @ six
(8) None of these
Input : Boat 34 Ink 21 42 \Vm(l
Air 75 .
Which of the following will be
step VII of the above input ?
(1) 75 21 42 Boat 34 Ink Wind
(2) 75 21 42 Boat 34 Ink Wind
(3) 75 42 34 21 Air, Boat Ink
Wind
(4) There will be no such step
as it gets arranged before
step VII '
(5) None of these

190.

Directions (191— 200) In each of the questmns given below whxch one
of the follomng answer figures on’ the right should come after the: problem
ﬁgures on the left, if the sequence were continued ?

Problem Figures - : Answer Figures
. .':nu *uo U =-0°u
1917.-:;2 zU :c'.cU a-n

¢ e} =T

192. 3 ‘ 5 _
Qe us ZlcxV o oloo

O o Ry

¢ 2

194, P 2 U

TR E B @ o

SIGHT |

HTIPD

|

'DF‘O-T"_H PDTOA}

AF.‘D.-T-VDP_OTV%OVDPIADVQP}AOTDP;
; Sl { . i

@ @B

ERURS By R R e R Ty |

(13 (2

N Raiendra Prasad



197. |

RSNSP|TSNZS | |

L) g B

198.

{24t T
[t} g T % 3 U zj

[EG)

199. |=

Do NN

e | 0

@ B

| 200. |@ <

D|® & O. O 8&|.

solo g elode| |
elo 0 ole vell |:

5)| 107. (1)

7111 (2) 112,

(1R

115. (5) |116.

(4)

L[ 1

. (@) 119. ) |120.

(5)

13. |

@3

123. (4) | 124.

(@)

17.

o

127.3) [128.

21.

@

| 131. (5) | 132.

(w

25. (G

29. |

. (2)

135. (4) [136

. (4

. 38

. (3

+139. (1)-| 140,

(1)

37.1

L@

e

41 (2) ]

|8is]8le

.6)]

Jaf

|147.@ [148.

20} i

45. {4

?

L@

151.(4) | 152.

@

49.

1.
2

—

.|

155. (1) |156.

3)1

53,

5

—

- (8) |

159. {2) | 160.

(21 .

312 8|58

57.

-9

| 163. (3) |164.

(4)

61.

62.

—_—

AT N

@)}

167.(2) |168.

@

83.

(
(
(
. (3)
(
66. (1)

. (3)|

171, (2) |172.

&) |

69.

.70.2)|

@

175. (1) |176.

(2)

73.

74. (3)

179, (2) |180.

(5] |

T7.

" 78. ()

®)] |

81.

82.(3)

@)
185, |

(2)

' 187. (2) |188.

W]

85.

86. (1)

- (2)

.| 189,

3]

191. (1) |192.

@]

89.

90. (3)

2. (3) |

| 103;

@

195./(3] {196.

(),

93.

94. (2)

R (2)'. ;

197.

3]

199. (4) |200.

]

97.

T 98. (1)

. (3)

101. (5

102. (1)

. {4)
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